
Consigne : Effectue ces calculs en ligne en utilisant la stratégie du modèle. 

 
Je m’appelle :                                 Nous sommes le : 

 
23 x 17 = (20 x 10) + (20 x 7) + (3 x 10) + (3 x 7) = 200 + 140 + 30 + 21 = 391  
 

 

12 x 23 =  

24 x 34 =  

34 x 25 =  

45 x 26 =  

15 x 27 =  

26 x 34 =  

24 x 36 =  

41 x 18 =  

18 x 43 =  

26 x 45 =  

54 x 27 =  

25 x 29 =  

72 x 24 =  

61 x 34 =  

33 x 26 =  

42 x 38 =  

82 x 23 =  

47 x 35 =  

29 x 37 =  

51 x 49 =  

  



CORRECTION 
 
 

12 x 23 = (10 x 20) + (10 x 3) + (2 x 20) + (2 x 3) = 200 + 30 + 40 + 6 = 276  

24 x 34 = (20 x 30) + (20 x 4) + (4 x 30) + (4 x 4) = 600 + 80 + 120 + 16 = 816 

34 x 25 = (30 x 20) + (30 x 5) + (4 x 20) + (4 x 5) = 600 + 150 + 80 + 20 = 850 

45 x 26 = (40 x 20) + (40 x 6) + (5 x 20) + (5 x 6) = 800 + 240 + 100 + 30 = 1 170 

15 x 27 = (10 x 20) + (10 x 7) + (5 x 20) + (5 x 7) = 200 + 70 + 100 + 35 = 405 

26 x 34 = (20 x 30) + (20 x 4) + (6 x 30) + (6 x 4) = 600 + 80 + 180 + 24 = 884 

24 x 36 = (20 x 30) + (20 x 6) + (4 x 30) + (4 x 6) = 600 + 120 + 120 + 24 = 864 

41 x 18 = (40 x 10) + (40 x 8) + (1 x 10) + (1 x 8) = 400 + 320 + 10 + 8 = 738 

18 x 43 = (10 x 40) + (10 x 3) + (8 x 40) + (8 x 3) = 400 + 30 + 320 + 24 = 774 

26 x 45 = (20 x 40) + (20 x 5) + (6 x 40) + (6 x 5) = 800 + 100 + 240 + 30 = 1 170 

54 x 27 = (50 x 20) + (50 x 7) + (4 x 20) + (4 x 7) = 1 000 + 350 + 80 + 28 = 1 458 

25 x 29 = (20 x 20) + (20 x 9) + (5 x 20) + (5 x 9) = 400 + 180 + 100 + 45 = 725 

72 x 24 = (70 x 20) + (70 x 4) + (2 x 20) + (2 x 4) = 1 400 + 280 + 40 + 8 = 1 728 

61 x 34 = (60 x 30) + (60 x 4) + (1 x 30) + (1 x 4) = 1 800 + 240 + 30 + 4 = 2 074 

33 x 26 = (30 x 20) + (30 x 6) + (3 x 20) + (3 x 6) = 600 + 180 + 60 + 18 = 858 

42 x 38 = (40 x 30) + (40 x 8) + (2 x 30) + (2 x 8) = 1 200 + 320 + 60 + 16 = 1 596 

82 x 23 = (80 x 20) + (80 x 3) + (2 x 20) + (2 x 3) = 1 600 + 240 + 40 + 6 = 1 886 

47 x 35 = (40 x 30) + (40 x 5) + (7 x 30) + (7 x 5) = 1 200 + 200 + 210 + 35 = 1 645 

29 x 37 = (20 x 30) + (20 x 7) + (9 x 30) + (9 x 7) = 600 + 140 + 270 + 63 = 1 073 

51 x 49 = (50 x 40) + (50 x 9) + (1 x 40) + (1 x 9) = 2 000 + 450 + 40 + 9 = 2 499 

 


